ME S6 mii cua 10

Tén:_ Ngaythang:_ Piém:__
10 = 9,98 + 10* =
2,35x 10" = 3,77+ 10° =
2,11+ 10" = 10° =
10° = 10% =
7x10° = 8,04+ 10° =
9,52 % 10 = 7% 10° =
10° = 2,73 x 10" =
9x10° = 4,07+ 10 =
5,99 x 10* = 10° =
10* = 10° =

www.snowmath.com



https://www.snowmath.com

Mﬂﬁ S6 mii cuia 10

Tén:__ Ngaythang: _ Piém:____
10 = 100 9,98 + 10* = 0.0998
2,35 x 10* = 23500 3,77+ 10* = 0.0377
2,11 +10* = 0.000211 10° = 1000
10° = 1000000 10* = 10000
7x10° =7 8,04+ 10° = 0.00804
9,52 % 10 =952 7% 10° = 7000
10° = 1000 2,73 x 10* = 27300
9 x 10° = 9000 4,07 = 10 = 0.407
5,99 x 10* = 599 10° = 1000
10* = 10000 10° = 100000
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